ofprmﬁedpages—lZ

st full marks

' m the following:
1><10= 10‘ '

(1) inventory vallm
(i) product pncmg

(iii) control and ﬁxatlon of reSponsﬂnhty

- (iv) revenue generatlon
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) Wage sheet is prepared 'l()y the
(i) Personnel departfnent e
(u) time needed to ‘process an order (ii) Payroll department

(ﬁii)l.time‘ needed to .place ‘an  order 'van_ (iii),_Engineering departrn,enf :
receive the material ' b P
-‘ (iv) Time-keeping department.

(f) Loss incurred in an incomplete contract is
transferred to —~ A/e. ' '

(c) For a work order the standard time and time
taken are 20 hours and 15 hours respectively,

- Time rate being Rs. 2 per hour, Total wages (i) Profit and loss
payable under Rowan Premium Plan will be §

(ii) Contract

(@ Rs. 37.50 "
(i) Rs. 47.50 - (iii) Work certified
(iii) Rs. 27.50 (iv) Contractor

() Rs. 17.50.

{(g) In Process costing, the abnormal loss is

(d) The charging of discrete, identifiable items of treated as - cost and written off to
cost to cost centres ‘or cost units is known Profit and Loss Account.
o | ' (i) Unit

Q) Absorption of overhead i) Peri d.
(i) Allocation of overhead | o g

ot (iii)'APPOIf,tiomnent of overhead (iii) Process
(iv) Alignment of overhead. (iv) Future
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Over-absorption of overhead means th,e
excess of overheads absorbed over the -
actual amount of overheads incurred.

(h) The change in costs due to changes in
method of productlon is known as -

' : (1) Margmal cost

(ii). Replacement cost (i) Statement I is correct.

(iii) Differential cost (ii) Statement IT is. correct. _
-'(i") "OPPO“unity cost (iii) Both the statements I and II are v

correct
(i) Which one of the following item is ng

included  in. the annual carrymg cost (iv) Both the statements I and II are -

| 'mventory ? incorrect.
| (1) Insurance cost. , i
‘ ' ‘ , . ing questions :  2x5=10
(ii) Amount of i interest payable on the mone i .the followmg questlonsv G

locked up in the materials. (a) State two objectives of Cost -Accounting.l

e COSt Of storage. ) If the minimum stock level and average stock
~ level of raw material A are 4,000 and 9,000
units respectively, find out its re-order
quantity. :

(iv) Cost of staff posted in the purchas‘
: depa.rtment

s () Examine ‘the correctness of the stateme
.glven below :

) What is m'eant‘.by abnormal ideal time ?
L. Undei'—absorptic)n of overhead means tl y o
-amount by which the absorbed overhe: d

fall short of the actual amount
overheads mcm'red

) State two basic principles of process costing.

- What is meant by integrated accounts ?
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the : same period cost accounts showed ‘a
profit -of Rs. 4,10,000. On comparison of
both the accounts, the followmg stock‘

3. Answer any Jour of the followmg questlons
' ~ | 5x4=4

(a) Dlstlngmsh between cost control and c‘

" reduction. balances are appeanng
S ‘ R Ci Cost Accounts Fmancial Accounts
(b) The capacity usage ratio and the capaci Rs R
“utilization ratio in respect of a machine fi ST
a’ patticular month is 80% and 90 s stosk ;g S ooo. A Ll
respectively. The available workmg hours Qi materials 4L, e
a month is 200 hours. | Bsing stock : e
- ' iteri ,10,000 | ~ 1,03,000
The break-up of ideal' time is as follows g atcrials | 1 _ :
‘Waiting for job -5 hours ening stock of | 3 ! &
B ak d ' gl 1 A i : ighed goods 2,66,000 . - 2,58,000 -
~ Bre own - —— ours | . :
i Gy ac A being stock ofl .o Nwes
Waiting for tools 3 hours - 229,000 223,000

Calculate the ideal time cost when the ho r
ﬁxed cost of running the machine is Rs. 8. e;-

(¢) Explain the concept of ABC system as

L0ss on sale of machmery Rs 35, 000
X technique,.of effectiv_e material control |

v:dend received Rs. 7 000

(d) ABC Ltd. closed its ‘accounts for the y‘ fterest received - Rs. 4,000

ended 31st March 2016. The profit shov

pare a Memorandum Reconciliation Account.
in ﬁnancml accounts is Rs sy 000 and ; | e :
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Ist April  30th ‘April ;
nished goods 17600 19,000

(¢) In process B, 75 units of a commodity were
transferred from process A at' a cost of
Rs. 1,310. The additional expenses incurred

~ by the process were Rs. 190. 20% of the units ]
‘entered are normally lost and sold at Rs. 4
per unit. The output of the process was 70 | ? ,
- units. Prepare Process B~ Account and Selling expenses Rs. 3,500 it
- Abnormal Gain ‘Account, | , B i e
' paie General and administrative expenses Rs. 2,500
Sales for the month Rs. 75,000 :

‘Compute the value of materials purchased and
also prepare a Cost statement. oy 10

(f) Write a short note on Ab‘sorption‘ “of

4. (@@ State the steps involved in the installation of

8 X Ltd. is committed to supply 24,000
bearings per annum to Y Ltd. on a steady -
basis. It is estir'natéd that it costs 10 paise o
as inventory holding cost per bearing per
month and that the set-up cost per. run of
bearing manufacture is Rs, 324.

Or g

The books of Avinash Manufacturing Co.
presents the following data for the month

' of April, 2017 - - R 8
Direct labour cost Rs. 17,500 being 175% o 3
works overheads. e el S
Cost of-goods sold excluding administrative

- » . ° G . ,. .. f !
expenses Rs. 56,000, What would be the optimum run size for

bearing manufacture ? What is the minimum

balances inventory holding cost at optimum run size ?
i st April S e pEy el
e SRl ! ) What are the various assumptions in the
‘Raw material 8000 10,600 | Galculation of BOQ 7 743=1

Work-in-progress 10,500 14,500
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O (c) Foreman's salary (L4t o8 his ' fime

% ’ £ J occupied in the machine) Rs. 6,000.' -
(a) What factors are to be considered - whill T _. ; ‘
. adopting . a method for the pricing :

(d) Insurance premium for machine Rs. -3',6. '
materials ? i) i -

‘ o 3 | » ~ (c) Cotton waste Rs. 60. fibi

(b) State two advantages of LIFO method Calculate machine hour rate.

- valuing materials. 8+2=1( s i . :

6. - A machine is purchased for cash at Rs, 9,20( '
Its working life is estimated to be 18,000 hour
after which its scrap value is estimated at Rs, 20(
It is assumed that : oy n Bl | R 1

(@) The machine will work for 1,800 ho '

annually. e Gl i

Calculate the earnings of worker under : 5
" (i) Halsey Plan’

' (ii) Rowan Plan from the following particu -
lars A b i o
(a) Hourly ‘rate of wages' guaranteed is
i 1 0.50 per hour.
(iii) The power consumption will be 5 units : b g
~hour at 6 paise per unit. ‘ ‘ (b) Standard time for producing one
: : .. dozen articles is 3" hours.
(c) Actual time taken by the worker to
produce 20 dozen articles is 48
hours. e

‘ (a) Rént of department ('m'achine'occup_‘
1/5_ch of total space) Rs. 780.

() Light Rs.288 (12 points in th

| What could be the possible effects of laﬁour
- department, 2 points engaged in machi ! :

over on cost of production ? ‘ 5
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7. The following was the expenditure on a conwi
of Rs. 12,00,000 commenced in April 2013
: e : : [

‘Materials G 5 Rs. 1,20,000

Wages ~ Rs. 1,64,000
Plant isr il i R 20000
General expenses - Rs. 8,000

Cash "reccived on account to 31st March 208

20% of the work certified, the value of matexil
in hand at 31st March, 2016 was Rs. 10,068

Prepare Contract Account showing - the - positill

at the end of the year and the amount of the p

which might reasonably be taken to Profit &

i Loss Account after allowing 10% for depreciatillf
! ~ on plant. _

- Or

(a) Write a short note on inter-process
pricing in terms of process costing.

1 : (b) State the features. of a process cost sys '
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